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1 6007 C1 v 24 3 1

2 6007 C2 v 3] 3 1

3 6008 Cl v 24 3 1

4 6008 C2 v 24 3 1

56010 C2 v 24 3 1

6 0505 C4 v PR 3 1

70505 C5 v 34 k& 3 1

8 0505 C7 v ¢ ik k4L 3 1 v

91028 2 v 2 ¢ brk 3 1

10 1028 4 % v r X 3 1

11 1028 wberz- v K bk 3 1

12 1028 42 v 2 ¢ ik 3 1

131028 42 v E4 bk 3 1

14 1052 2. -XE 3 1

15 1052 wherz- R 2 3 1

16 1052 * R4 bk 3 1

17 1052 R 3 1

18 1110 2 v 24 btk 3 1

19 1110 &= v i d bk 3 1

20 1110 * o F ¢ btk 3 1

21 1110 wheez R EE 3 1

221192 2 - XE 3 1

23 1192 = v i d bk 3 1

24 1192 % o F ¢ btk 3 1

95 1192 shre o F ¢ btk 3 1

26 1233 2. -XE 3 1 v

27 1233 = R 2 3 1

28 1233 whre- o F ¢ btk 3 1

29 1263 4 v k& 3 1

30 1263 42 v 24 3 1 v

311234 2 v k42 3 1

32 1234 whee v r i 3 1

331234 # 4 k4 3 1

34 1256 2 v 2 ¢ bk 3 1

35 2345 = v ¥k s 3 1

36 2346 2 v 24 3 1 v

37 2347 2 v 2 ¢ brk 3 1

38 1261 1em & v ks 3 1

39 1262 2 v k42 3 1

40 1198 % vooFd kR 3 1

41 6010 C1 v r i 3 1 v

42 CR7004 C2 v K 3 N/A




22-01-BAG-016

2 R R Fh

,‘ e i A B OkE Kok

b RS s B¢ A Es B
43 CR7016 Cl1 v LA 3 N/A
44 CR7016 C2 v F & btk 3 N/A
45 CR7016 C3 v % 3 N/A
46 CR8001 Cl1 - ¥ 3 N/A
47 CR8001 C3 v Fd 3 N/A
48 CR8002 Cl1 - ¥ 3 N/A
49 CR8002 (2 ¥ 3 N/A
50 CR8002 C3 v Fd 3 N/A
51 CR8003 Cl a-X 3 N/A
52 CR8003 (2 voKd 3 N/A
53 CR8004 C2 VK4 3 N/A
54 CR8004 C3 v bk A 3 N/A
55 CR8005 Cl a-X 3 N/A
56 CR8005 C3 v btk % 3 N/A
57 CR8007 Cl v L % 3 N/A
58 CR8007 (2 v ks 3 N/A
59 CR8008 (2 v K d 3 N/A
60 CR8015 Cl - ¥ 3 N/A
61 CR8015 C2 voFKd 3 N/A
62 CR8015 C3 v Fd 3 N/A
63 3087 R 2 3 N/A
64 CH1103 o e d bk 3 N/A
65 CH1106 RSk 3 N/A
66 CH1148 v B¢ btk 3 N/A
67 CH1214 R4 bk 3 N/A
68 CH1219 o= bk 3 N/A
69 579 Cl RS bk 3 N/A
70 579 (6 v 24 btk 3 N/A
71 579 CIR R 2 3 N/A
72 579 C6D v Fd bk 3 N/A
73 609 Cl RS bk 3 N/A
74 609 (3 v Fd ik 3 N/A
75 610 Cl R4 bk 3 N/A
76 616 CIR o= bk 3 N/A
77 623 Cl RS bk 3 N/A
78 623 (3 v bk 3 N/A
79 623 (6 R 2 3 N/A
80 627 Cl vooR— bk 3 N/A
81 627 (3 v Fd bk 3 N/A
82 627 (6 v Fd bk 3 N/A
83 628 C(l R4 bk 3 N/A
84 628 CIB voo— bk 3 N/A
85 628 (3 v K4 bk 3 N/A
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86 628 (6 v OFEd bk 3 N/A
87634 Cl v 24 ik 3 N/A
88 634 (3 AR Y. 3 N/A
89 635 Cl v R d bk 3 N/A
90 635 C3 v OFd bk 3 N/A
91 638 Cl v 24 ik 3 N/A
92 638 Cb AR Y. 3 N/A
93 639 Cl vioR 3 bk 3 N/A
94 639 C3 v bk 3 N/A
95 639 C6 v Ed ok 3 N/A
96 643 Cl ViR 3 bk 3 N/A
97 643 CIR vioR 3 bk 3 N/A
98 643 C3 v Fd bk 3 N/A
99 644 Cl v 24 gtk 3 N/A
100 644 CIR - gl 3 N/A
101 645 Cl1 - -7 3 N/A
102 645 C3 v Fd bk 3 N/A
103 645 C6 v Ed ok 3 N/A
104 646 C1 v 2 d bk 3 N/A
105 646 C3 v K bk 3 N/A
106 646 C6 v K bk 2 N/A v
107 648 C1 v B4tk 3 N/A
108 648 (6 AR Y. 3 N/A
109 649 C1 v R 3 bk 3 N/A v
110 649 C3 v Fd bk 3 N/A
111 649 C6 v F ¢ btk 3 N/A
112 652 Cl - gl 3 N/A
113 652 (3 v OEd bk 3 N/A
114 652 C6 v Fd bk 3 N/A
115 653 Cl v 24 otk 3 N/A
116 653 C3 AR Y. 3 N/A
117 653 C6 v OFd bk 3 N/A
118 655 Cl1 vioRd bk 3 N/A
119 655 (3 v Ed ok 3 N/A
120 655 C6 AR Y. 3 N/A
121 656 Cl1 ViR 3 bk 3 N/A
122 656 C3 v OFd bk 3 N/A
123 657 Cl v 24tk 3 N/A
124 657 C3 oS bk 3 N/A
125 657 C6 v OFd bk 3 N/A
126 6568 Cl1 viooRd bk 2 N/A v
127 658 (3 v Ed ok 3 N/A
128 659 Cl v B4 bk 3 N/A
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129 659 €3 VoK ik 3 N/A

130 659 C6 VoK bk 3 N/A

131 660 CI V24 bk 3 N/A

132 660 C3 v Fd bk 3 N/A

133 662 Cl VR4 ik 2 NA v

134 662 (3 VoK ik 3 N/A

135 663 Cl Vo 24 bk 3 N/A

136 663 C3 Vo Fd bk 3 N/A

137 663 C6 VoK ik 3 N/A

138 664 Cl V24 bk 3 N/A

139 664 C3 Vo Ed bk 9 NA v

140 664 CSR Vo F4 bk 3 N/A

141 666 C1 Vo= ik 3 N/A

142 666 C6 V¥ ik 3 N/A

143 668 Cl Vo 24 bk 3 N/A

144 668 €3 Vo F4 bk 3 N/A

145 668 C6 VoK ik 3 N/A

146 669 Cl V=4 bk 3 N/A

147 669 C3 Vo Fd bk 3 N/A

148 669 C6 Vo Fd bk 3 N/A

149 670 Cl VB¢ ik 3 N/A

150 670 C3 Vo Ed ik 3 N/A

151 670 C6 Vo OEd bk 3 N/A

152 671 Cl VB¢ ik 3 N/A

153 671 C3 VoK ik 3 N/A

154 674 Cl Vo= bk 3 N/A

155 674 C3 Vo OEd bk 3 N/A

156 674 (6 Vo Fd bk 3 N/A

157 7566 C1 VB¢ bk 3 N/A

158 1002 v %4 3 N/A

159 1002 v &oks 3 N/A

160 1002 v 4 & 3 N/A

161 1003 v ok 4 3 N/A




